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Part V: Solving equations with one unknown (Be sure to show all work on the separate page)

51. 37-x=98

= -G

52. -53+y=141 y = /7 (_./

54, -72+t=-40 'ZL = 32

58. X = —45 X = - J’? 0
4

59. 3x+5x=48 X =
X(’j; "‘ -yg

= = (

61. 5a-4=26

64. bx+5-2x=-19

70. 6x+5x-4=2x-8

Part VI: Solving the following formulas for the given variable

Example: Solve fora: P=2a+3b+4c
P-3b-4c=2a
P—3b—dc _
2
71. p=mv ; form_> \7
(4 J|
72.v=%;f0rt t = \// o
A (K% o
73. xe=x+vt+(0.5)at’; fora — - - -
mv, - Fr -
74. Ft=m(vev)) ; forv,_— _'_-’Fr?_#
Y B
75. W=fx(cos(B)) ; forx_~ ,Jr ,0sb

76. E=(0.5)kx? ; for x_— "i“-’

77.P=FTx;forF

78. vi=vitat ; forvi_ —

79. vif=vi’+2ax ; forv, — \}.C -

80. W=fx(cos(®)) ; for6_= € 0% [ 7




Part VII: Pythagorean Theorem: Using the formula a® + b? = ¢? solve for the unknown triangle side

81. a=3, b=4, c= -
82. a=6, c=10, b= g

(-("

83. b=12, c=13, a= b}

Part VIII: Using the formulas for a right triangle solve for the given variable:

Formulas: Sin@ =%
Cos @ = b

[

Tanf = -

91 a=5, c=8, sinB= 2{
‘{WO oazagezob— L{,7

1y
93. b=18, c=30, cos(-):_}@_

Part IX: solving for angles

97. ¢=20, b=15,06= £ 05

98. a=5, c=10,0= S: / 5 )
/)

N
(:rf{) - ./‘

94, c=2, =5, a= /; 2 7
95.8=50, b=6,a=__/, [ &

/7
96. a=19, b=10, tanB=__—

N
\}CJ

\,

99b23c7e—(0/

100. 4=7, b=6, 8= 7‘5}/ \[1)



Part X: Substitution: Solve one equation for y in terms of x and then substitute the result to solve for x

Example: —
[orts ez ] —x=7
?y=18—4; — x2_(§;x)——9 - ~
T cewes Jox-16y=(Sx 13
ox=27 |
Jox{lbt-n] 71773
101.3:::136 j { ” f ff’ 106.-)(13:-:\/5):15”30 ‘/?L/ .- 1 20

_a Ix+ YK A . 76

102. 2x-y=14 -
xby=-11 y - /(-/ ~L X
= 823 | | —

xS es apeapayma Lx et hj 8=

) 7x =36

, 2l =7 3(x-10y+2)=6(x-2y) ‘
3% Y= iJ.C 2){,{ {_3 | ¥
7 -fz.“,\g_"f\ ‘lC/”fc:’:sz
o X -)J e )
D+l = [x tlBe
‘ / BX*G:GW[M?(;J

111. 9382

112. 892=

117. 0.000295= [ PN Gad ey
—— U3 +lo)= 394 30x

113. 0.000283= 8987887=

118. 99999999=

115. 1050000= 120. 89=




Part XlI: Converting 5! units

Yable 3
Some Prefixes for Powers of 10 Used with Metric Units

Power Preflx Abbreviation Power Proefix  Abbreviation

'8 aro- a 197! deci- d
10" femeo- f 10 deka- da
107" plco- B 10 kile- K
107 nano- 0 wh meg- M
10t micre-  u {Greek 10° gga- G
lettar mu) 107 tera- T
10 3 mi- m 0% pem P
16 = cent- ¢ 1018 — L
121.(1.5¢cm) = _¢ 0/5 m 126. (7 Mg) = 1 xt0 kg
-5
122. (6..9,-km)=(:r;2(2 m 127.(23.4 mL):Zg-q)//LO
123. (800 mm) = 3 m 128. (90.0g) = 7,000 g
N
124. (92 m)= 9240 ym 129. (5x10* pm) =_S 0 nm

Al
125. (28 ns) = j_f‘_"_oms 130. (2.3x10%)=_ /. J ns
Part Xlil: Solving one dimensional motion problems (For these problems be sure to show all of your
work)

The following equations are used to solve problems in one dimensional motion analysis. In this class you
will be solving many word problems. Isolate the given variables and using these equations solve for the

unknowns.
Variables: X;— initial position %; — final position
v;— initial velocity v¢ — final velocity
a — acceleration t—time
Ax —change in position ¥ - average velocity
. _ _ Ax
Equations: v=— v =v; +at

1
Ax = vit + Eatz vf = vl + 2aAx
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Example;

If a vehicle is traveling at 2 m/s and accelerated at a rate of 0.4 m/s2 for 10 s how far will it travel?

1 { .’}{)M
JHD,

JU‘): ¢w(5

Known Want Equation
vi=2m/s Ax = = L’
a=0.4m/s2 &x—vl-t-l-lzat
t=10s _ m - E 2
Ax = (2?) (105) + 3 (0.432) (105s)
X \‘\ l)l\ .

Problems: ;, 1 7 4 Lt \\j,{_ A
\@\L/,\)L/J%rq 7q j

131. How fast would a vehicle be traveling if it started from rest and accelerated uniformly at a rate

of 1.2 m/s” for a total of 5 s? V} - ‘./, rat
132. How long would it take for a vehicle to accelerate from 5 m/s to 8 m/s if it accelerated at a
constant rate of 0.75 m/s??
133. What would the rate of acceleration for a bus be if it slowed from 21 m/s to a stop in 20
second?

134. How far would the bus in the previous problem travel in the stated amount of time? X5

135. How fast would something be going if it were to be dropped from rest 10 m above the ground

Sy ev b dae?

W )

and fell with free-fall acceleration of 9.8 m/s?

4136. If a boat can stop in 50 m after traveling at 30 m/s what is ﬂ'I/;E rate ofacceleration? p—

Ay'= Yt -4 gt°

— /
] "‘/Oru’wf m,"
- -3 vj

/\] 1

.

s L

137. How long would it take for the boat in the previous problem to stop?

(A?} L0 s

Ly

%
)\f l

Answers:

138. How long would it take for a ball being dropped from rest off of a roof that is 15 m tall to hit -

the ground?

/ 7 W59  139.A speeder passes a police officer traveling at a constant velocity of 30 m/s. Then the police car

starting from rest accelerated at 2.44m/s’. How much time will pass until the police car is even

with the speeder?
140.' A model rocket is launched straight up with an initial velocity of 50 m/s. It accelerates with a _
~tonstant acceleration of 2 m/s® until the engine cuts out. When that happens it is in freefall and o a‘f rev

accelerating at -9.8 m/s’. What is the maximum height that the rocket wil!:_[_each?_. Ttngone Jr“'g_ '

e — - ; .’,.- N 5
_ __; -
131. é M/;' 136. %"/f
/ y
2 A7
132. é/f 137._ 7795
—7 for
ﬁ - , ‘/1._0 Jeing fﬂmsz
133. — /, 0§m//§ . e [ (73 J e
134. 2/0;,44 139. Zq-(ﬁf
_ |l 47

135. I 5 . 27 0.97-m
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